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26 13 26 26
o o Ax _ Jx
HE o fF sin =6, gqr sind=
‘ Jx+a x+1
tan 0 = \/3 :
\N(.Ha)“ ~(x)?
R PR Y vy
Jx+a-x a
X )
0 = tan™! \]; ar sin”! J; =tan”' [ - Ans.
X+ a
y=sinx
X
Afen = jsin xdx =[-cos x]
0

=—[cos - cos 0°]
=—[-1-1]

2 Ans.



10.

11.

dy
__.+]_ .
Tt I . (1)
X+ y=y @l
x % O T T T, T U © R

FHFT (1) ¥ 9T T W,

ﬂ=€'» A dy=¢" dv
dx
THF T W, Wﬁ%ﬁfdr—fc av
AMx=—eV+c, TAx+e TNz, GfEIrWWb
fix 3x, +5
X ="
3x,+5

f(xz} =

fl) =f(x)

Hdq: X=X,

T f)=y o y= XD

BIED f(t)agc—nwnﬂ-q 2l
x=f71()

3x+5=2y

2y—
3

= x=2y-5 = x=

2y—5
3

I 7 (x) = 2

. a(l\_n

sin™ (Y) + cos [2)—2

- 1 ELBPOr | (.1_)
= sin” (x) = 2 cos )

1
= sin~lx = sin™! (5)

floy=
&5

, Ans.

,Ans.

B |

x=

A cot™!(3) = @, cosec™! (/5) =P
= cota=3 3T cosecf} = V5
1 1
cot Jcoscczﬁ—l

1
= tan U-'—'-; 3T tan B=

1 1
= J5-1 2
1
= mnav=% 3T tan B=5
o =tan” [ ) st P=tan” l(%)
3T At T

= 4{cot™ (3) +cosec™' (+/5)] = 4[o. + )

Ao 2]

= 4| tan™

= 4[tan"(l)]=4—z~= =2t 94, Proved.

14. AT sinlx =0 FF sin 0 =x

[y
n

16.

17.

18.

e sin @ = cos(g—ej

b7
COS(—-GJ =x9 cos".r=E—-e
2 2

ar 6 +coslx = I
cos™x = 3
[
sin”! x+cos! x = 2 , Proved.
x+1 x=1|_[4 -1
x=3 x+2|7[1 3

X+ Dx+2)-(x-3)(x=1D=4x3-(-)x1
(P +3x+2)- (2 -dx+3)=12+1
3x+2+4x-3=13

Tx=14 . x=2

00 1jf001
Al=44=|0 1.0(|0O 1 0
(1 00][1 00

{0+0+l 0+0+0 0+0+0] [1 0 01

Lusud

=|0+0+0 0+14+0 0+0+0|=
|0+0+0 0+0+0 1+0+0
A® =] proved.

]
T BN
- o[ 2 2

AP —dAT + A

26 45_47 1?.+2 3
=115 26 4 7 1 2
[26-28+2 45-48+3
| 15-16+1 26-28+2

[0 0 S
= _0 0 =0, proved.
_\"=,\‘T

St TE log & T,
logy* = log »*

= xlogy=yvlogx

diff. w.r. to x

ld—v—-n:'!lo nr+vl
l.logy+x. y v dx g A



19.

20.

2
[

Ldv_d
ody dy

log x dy _ ¥ lo
—— - == —lopry
. v B dv A £

il._\‘._\(\—\ log v)
dv x(x—=vlogx) *
AT x=tan® - O=tan'y ()]

a1 ( 2tan 0 )
r=cos [T 3T
\ N 1+tan’ 0

=cos™! {cos (m/2 —20}

Ans,

= 3;— 20 = g ~2 tan! x [T (i) ]

KL L TR 1
= [—, 2tan .\] g_oxﬂ_—x-z-

“

-2
1+x°°
v y=sin"!
diff wr. to x
dy _ 1

dx Jl—\

Ans.

. - o)
x+sinty1-x?

X (=2x)

Jl—(ﬂr ZJI-V
J? J_ J_

1
=0, Ans.
\/l —x?

\/l—x
y=tan™! (log v)
dy d{lun"l(]og.\')} dlog x
dx = d(ogx) = dx
1 1_ 1
= 1+(log_\')2 x x{(]+(log.\')2]’ £Ans

y=sin 14 x2

dy  dsiny1+x°
dx d

dl+x® d1+a?)
1+x2  dd+x)"  dx

5 1
_cosvl4x®  ———2x
- 241+ x2

x.cosyl+x?
= —Jﬁ‘—z— , Ans.

fau mr mm Fr owiEr 8, P+ 3y-3=0

1 2 -
y= 3(3-.1) (1)
dy 1, 5.
a3 )

i'ran=4x-5a'ﬂ'rm =4

v A, —{ 2x)=4 = x=-6

T, () H, y= %(3—36)=—ll

T aFR fag (-6, -11) frer
fa= (-6, -11) T o7l TEr W A (G e
4%) B, v+ 11 =4 (x+6) 4T, y=dx+ 13, Ans.

24,

26.

27.

Ly

WﬁﬂmriﬂTle-rW’qﬂm
A
_""l

y=xx (24 - x) = 24x - & I, (i)
dy
—=24-2, i
I X . (i)
dy .,
dx \
24 -2x= 0
x=12
3 Ty, (11)fT £y __z<0
x=12T vzﬁrmm%l
o A1 W 12307 24— 12=122
1—sinx
eI = 5 dx
COS™ X

‘1 sinx
o3 | Gowr-avinb nll L
Cos ¥ CoOs x

.,
= J (sec” x—secx.tan x) dx
=tan x - sec x + C, Ans.
Tar [ = J.sin}.rdx

_ I3smx—sm3.r d

= l[—3‘::0::.1:—_'—coﬁij|+c
4 3

3 1
=— I Ccos X + EcosSx+C

AAT % z=1 +sinx, @ dz = cos x dx
ST x=0,z=1+4+sin0=1+0=1

, Ans.

dv
eJl =x"
T AT log?:ﬁf T,

o )
]ngr‘.d,\/cl\ - lug‘,r
dy
= —=2log,x
dx

= J-dy = 2J' log, x dx

=2 [log, .\‘Ilh‘ - IId.\' : d lZf a3 d.t]




29.

30.

31

32.

= y=2 [.\' log, .\'—I_r . 1 dx]
’ X

= y=2 [.\' log, x— .\']+ C, Ans.
i 3l b AT o w

oo_db __ N6 43
cOs
b1 Bz B

_Vi8 32 2 2 ]
“3x2 3x2° 2 2 2

= 0=cos"L 0 %,Ans
2
bxé = 7 k
2 1 -1
1 3 =2

T243)4(= ) (4+D+k (6-1)

- - —
i+3j)-5k

Po7 R
5o _l 23
(IX(IJXC) . 1 3 5

=7 (<1049 +(=)) (5+3)+k(3+2)

=-T-8j+5k
= v+2 Z .
et v 200 o= ¥ fog g
=17-51
W{G’ﬁi‘@——' %mm_l,-,

aa, + b b, +c;c, =0
ayay, +bb, +cic;=Tx1+(-5)x2+1x3
=7-10+3=10-10=0

7 0].[3 0]_[10 0
&= (x+y) +(x-y) =[2 5}[0 3]=[2 3]
110 0] [50
X=3512 8|1 4
70][30] [40
REE 2_)'=(.I.'+y)-(x"y)=[2 5]_[0 3]=l:2 2:|

v=312 201 1)

. 2a a
1. 7 f(2a-x)=f(x), 7 jn F(x)dx = 2J‘n F(x)dx

n 5 n s
J;} cos )ura'x=2jO cos” xdx (1)
[~ cos (2m — x) = cos x]

-

T l:J cos” xdx .(2)
0

a l=rc035(n—x)dx
0

n
ar I= —-J;) cos® xdx [ cos (T —x)=cosx] ..(3)
3T 2)+3)=20=0.1=0

2r
a@: (DT, ‘[ cos® xdx =21=0; Ans.
0

3. FATFLT £ = -3x + 3y N 6))
SAafF x+2y < 8 . (i)

3x+2y <12 .. (1i1)

x>0,y>0 . (1)

T W AR ' FE T x+ 2y =8

x|(0]8
yv|4]|0

fgda mA fafy & ¢ @ 3+ 2y =12

x{0]4
y|6(0

x+2y=8 ... (@)
Ix+2y=12 ... (b)
(@) - (b) &
-2x = -4
ox=2
XH AA ()T TET W
y=3
#E @ W (0,0) TF x>0 3 y20.

Y Ax+2y <12
o= fag (2, 3) 9 @ r+°v—saﬁr 3x+2y=
12 fag (2, 3) W wfa=de & 2



(75}
w

2T =5 A (0, 4), B (2, 3), C(4 0) T O (0. 0)

p—fazg T 3t,+_1_y_'
| A©.4) } 12

P23 | 13 |
Lc@o | RER
L 0(0,0) | 0 '

mmm—lzﬁgm,mwménﬁu

" fF y=tan™' () T4 x=tan v o (D)
A §y UF TIEl W OAE AT xF W 6w %
AT Jy AT o B
x +8x = tan(y + 8y) o (i)
L (i) F (i) F T2 W,
x+08x—x=tan(y+8y)—tany

_ sin(y+38y) siny

— -
cos(y+0y) cosy
By = sin(y + 0y).cos y —cos(y+&v)sin v
= Ox=--— . —— :
cos y.cos (y+4y)
sin(y+3dv—y
=» 8.‘(': (' - F )

cos y.cos(y +8y)
Sy ¥ SFT OO WM B4 W
g sindy |

8y 8 cosy.cos(y+ay)
§_\_' v
v sindy
Sy _ Sy
Lt = Lt
Se=0) 8‘ 6.-.n Slll 5‘

.cos v.cos (y+dy)

.COS Y. Lr cos (v+8y)

dy 2 [ . Sy
—— = COS Y.COS Y = COS§~ y = — lim ——=1
dx sec”y 1,r—ou sindy

dy _ 1 !

dx l+tan’y T l4x

y

‘d\ | ‘r

dx  1+x°

[ = I.:-" cos.x dx

integration by parts F FAIT FT4 W,

= I=cosx Jfld\'—‘[{%(cosx).

¢ rd_\'} dx
dx

= [ =cosx.e' —I—sinx.e"dx

]=e".cosx +Je‘.sin.r dx

37.

T7: integration by parts FT WA T W,

J=e€e".cosx +[sin.rje’dt - j{%(sin x).J‘e"alr} dx]
I=e".cosx+[sinxe® -Icos xe”.dx]

I=¢e cosx+e’ sinx—je’.cosxdx

I=e cosx+e sinx—1I

2] =e*(cosx+sinx)

1
= Ee “(cosx+sinx), Ans.

ErE] %, TF T FHEL _\’2=X Sy= .J;
T x=1,x=4
W= AT ABCD, x=1,x=4
X-37F T GET 9 T gIW w
}f
X'« P X

T F, & ABCD 1 AA%w

3
)

4
ydx= IJ.?dx: L.
1

3
2]

——— ie

= 23] = 2wvE -1

3
=%(4x2—1)=% T TE Ans.
a=A+j+4k T j =20 +6]+3k
W p ¥ WY =4
.
=4
= bl
(A +j +4k) (21 +6_) +3k)
= 127 + 6 +3k1
2A+6+12 2L +6+12
T s =/ —==4
V2% 467 432 7
= 20+18=28 = 2A=10
A=5,Ans.

aada |



